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QUESTION 1

A mirror copy of the boot disk has been created on disk4. The system is rebooted using disk4 but fails to boot due to
missing EFI executables such as the hpux.efi file. Which step has been left out of the mirror creation procedure? 

A. mkboot --e /dev/rdisk/disk4 

B. mkboot --e /dev/disk/disk4 

C. mkboot --e --I /dev/disk/disk4 

D. mkboot -e --1 /dev/rdisk/disk4 

Correct Answer: A 

 

QUESTION 2

What is the patch-name prefix convention for HP-UX patches? 

A. PHCR Command PHKL - Kernel PHNE - Network PHSU - Subsystem 

B. PHCO - Command PHKE Kernel PHNW - Network PHSS - Subsystem 

C. PHCO - Command PHKL - Kernel PHNW - Network PHSS - Subsystem 

D. PHCO - Command PHKL - Kernel PHNE - Network PHSS Subsystem 

Correct Answer: D 

 

QUESTION 3

A company has recently installed ipfilter software to increase security in their environment. Which security benefits will
the company gain from using this software? (Select two.) 

A. Firewall services 

B. Increased password length 

C. Network address translation 

D. Increased file system security 

E. Trusted platform security 

Correct Answer: AE 

 

QUESTION 4

What happens when a system administrator issues a command without path information? 
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A. The shell searches through directories from the PATH variable until it finds a directory where the executable exists. 

B. The shell searches through directories from the PATH and next through the current directory. 

C. The shell searches through the whole file system. 

D. The shell searches through the current directory and next through directories from the PATH variable until it finds a
directory where the executable exists 

Correct Answer: D 

 

QUESTION 5

A process (PID 2314) forks three other processes (PIDs 84SS. 8469. and 8500). What is the relationship between those
four PIDs? 

A. All four PIDs are children because, they are running under the same kernel. 

B. All four PIDs are parents because they are running under the same kernel 

C. PID 2314 is the parent, and the other PIDs are its threads. 

D. PID 2314 is the parent, and the other PIDs are its children. 

Correct Answer: D 
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